20245 E

IR yh—s 418

= A
Y=

R&4 TN )L—TPresents20240 757\ CUP
F56EEEU-12HvH—KE /MEHX FE
215 HHE /Y yHh—15
BHESE A B 20247868
AJOvY PsIUN LokE R 5|8 72 i Sl15 ik 1§ KB 5L
ATk 4 O 1|1 A 1 1{of1| 45| 2] 3|1
LokE |1 @ 4 1 @ 2 o[2]0/ 0] 2|6 |-4]| 3
Bl 1TA1[2 O 1 1lof1] 432[ 1] 2
Bj‘n‘yg :t: %Fﬁznd jtll\*gELE H% ﬁ ﬁj\ H%II\\ ,%II\\%Ié ’%% IIE11I—L
—+a 6 O 0[1 O 0 2{ofo]l 6| 7|0 7|1
£tHh2nd [0 @ 6 0 @ 7 o|2]o] 0| o [13]|-13]| 3
dt/MEBELE|l0 @ 1|7 O 0 1{1lol 3] 7 [ 1] 6| 2
c7Oows [EZZORH $£W BHIRAKABA 5|8 o 15 ml15 sk ml13 KIE L
EZZORE 1 O 0|2 O o0 2{ofol 6| 3]0 3|1
=N 0@ 1 0 @ 2 ol2lolo|o0|3]-3]3
SHIRAKABAO @ 2| 2 O 0 1{1lof 3] 2 2] 0] 2




